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1. When the distance between the charged particles is halved, the force between them becomes		
	(a)	One-fourth	(b)	Half
	(c)	Double	(d)	Four times

2. There are two charges +1 microcoulombs and +5 microcoulombs. The ratio of the forces acting on them will be			
	(a)	1 : 5	(b)	1 : 1
	(c)	5 : 1	(d)	1 : 25

3. 
Four charges are arranged at the corners of a square , as shown in the adjoining figure. The force on the charge kept at the centre O is 		
 (
O
C
+
q
+
2
q
B
A
+q
D
– 
2
q
) 






	(a)	Zero	(b)	Along the diagonal 


	(c)	Along the diagonal 	(d)	Perpendicular to side 

4. A body can be negatively charged by 
	(a)	Giving excess of electrons to it 
	(b)	Removing some electrons from it 
	(c)	Giving some protons to it 
	(d)	Removing some neutrons from it 

5. Out of gravitational, electromagnetic, Vander Waals, electrostatic and nuclear forces; which two are able to provide an attractive force between two neutrons 
	(a)	Electrostatic and gravitational 
	(b)	Electrostatic and nuclear 
	(c)	Gravitational and nuclear
	(d)	Some other forces like Vander Waals

6. 


A total charge Q is broken in two parts  and  and they are placed at a distance  from each other. The maximum force of repulsion between them will occur, when


	(a)		(b)	


	(c)		(d)	

7. 





Three charges  and  are in a straight line in the position of 0,  and  respectively. The resultant force on  will be zero, if 		

	(a)	– q	(b)	


	(c)		(d)	 

8. Dielectric constant of pure water is 81. Its permittivity will be


	(a)	 units	(b)	 units

	(c)	 units	(d)	Cannot be calculated

9. There are two metallic spheres of same radii but one is solid and the other is hollow, then 		
	(a)	Solid sphere can be given more charge
	(b)	Hollow sphere can be given more charge
	(c)	They can be charged equally (maximum)
	(d)	None of the above

10. In general, metallic ropes are suspended on the carriers which take inflammable material. The reason is
	(a)	There speed is controlled
	(b)	To keep the centre of gravity of the carrier nearer to the earth
	(c)	To keep the body of the carrier in contact with the earth
	(d)	Nothing should be placed under the carrier

11. 



Two charges and are placed in vacuum at a distance  and the force acting between them is . If a medium of dielectric constant 4 is introduced around them, the force now will be		


	(a)		(b)	


	(c) 		(d) 	

12. 




Force of attraction between two point charges  and – Q separated by  is . When these charges are placed on two identical spheres of radius  whose centres are apart, the force of attraction between them is  


	(a)	Greater than 	(b)	Equal to 


	(c)	Less than 	(d)	Less than 

13. 




A force  acts between sodium and chlorine ions of salt (sodium chloride) when put  apart in air. The permittivity of air and dielectric constant of water are  and  respectively. When a piece of salt is put in water electrical force acting between sodium and chlorine ions  apart is 			 


	(a)		(b)	


	(c)		(d)	

14. 
Two charged spheres separated at a distance d exert a force on each other. If they are immersed in a liquid of dielectric constant 2, then what is the force (if all conditions are same)		


	(a)		(b)	


	(c)		(d)	

15. 
When  electrons are removed from a neutral metal plate,  the electric charge on it is 
 (a)	– 1.6 C	(b)	+ 1.6 C
(c)	10+19 C	(d)	10–19 C

16. 






Two small conducting spheres of equal radius have charges  and  respectively and placed at a distance  from each other experience force . If they are brought in contact and separated to the same distance, they experience force . The ratio of  to  is 
 (a)	1 : 8	(b)	– 8 : 1
(c)	1 : 2	(d)	– 2 : 1

17. 
Two charges each equal to  are 0.5m apart. If both of them exist inside vacuum, then the force between them is
 (a)	1.89 N	(b)	2.44 N
(c)	0.144 N	(d)	3.144 N

18. 
Two charges are at a distance ‘d’ apart. If a copper plate (conducting medium) of thickness  is placed between them, the effective force will be 
 (a)	2F	(b)	F / 2

(c)	0	(d)	

19. Two electrons are separated by a distance of 1Å. What is the coulomb force between them 			 


(a)	N	(b)	N

(c)	N	(d)	None of these

20. 
Two copper balls, each weighing 10g are kept in air 10 cm apart. If one electron from every  atoms is transferred from one ball to the other, the coulomb force between them is (atomic weight of copper is 63.5)


(a)	N	(b)	N


(c)	N	(d)	N

21. 

Two charges placed in air repel each other by a force of . When oil is introduced between the charges, the force becomes . The dielectric constant of oil is
 (a)	2.5	(b)	0.25
(c)	2.0	(d)	4.0

22.  (
A
 +Q
C
a
B
– Q
+ Q
)Three charges are placed at the vertices of an equilateral triangle of side ‘a’ as shown in the following figure. The force experienced by the charge placed at the vertex A in a direction normal to BC is 			

(a)	

(b)	
(c)	Zero

(d)	

23. 


Two particle of equal mass  and charge  are placed at a distance of 16 cm. They do not experience any force. The value of  is 	

(a)	l	(b)	


(c)		(d)	

24. When a glass rod is rubbed with silk, it 	
(a)	Gains electrons from silk (b)	Gives electrons to silk
(c)	Gains protons from silk	(d)	Gives protons to silk

25. A body has – 80 micro coulomb of charge. Number of additional electrons in it will be 	


(a)	 	(b)	


(c)		(d)	

26. 


The ratio of electrostatic and gravitational forces acting between electron and proton separated by a distance  will be (Charge on electron = 1.6  10–19 C, mass of electron = 9.1  10–31 kg, mass of proton =  		
	(a)	2.36  1039 	(b)	2.36  1040 
	(c)	2.34  1041 	(d)	2.34  1042 

27. Two point charges 3  10–6 C and 8  10–6 C repel each other by a force of 6  10–3 N. If each of them is given an additional charge – 6  106 C, the force between them will be			
	(a)	2.4  10–3 N (attractive)	(b)	2.4  10–9 N (attractive) 
	(c)	1.5  10–3 N (repulsive)	(d)	1.5  10–3 N (attractive)

28. The number of electrons in 1.6 C charge will be 


	(a)		(b)	

	(c)		(d)	1.1  102

29. Four metal conductors having different shapes
1.	A sphere	2.	Cylindrical
3.	Pear	3.	Lightning conductor
are mounted on insulating stands and charged. The one which is best suited to retain the charges for a longer time is
 (a)	1	(b)	2
(c)	3	(d)	4

30. Identify the wrong statement in the following. Coulomb's law correctly describes the electric force that
(a)	Binds the electrons of an atom to its nucleus
(b)	Binds the protons and neutrons in the nucleus of an atom
(c)	Binds atoms together to form molecules
(d)	Binds atoms and molecules together to form solids

31. 

Charges of  are placed at each of the four corners of a square of side . The potential at the intersection of the diagonals is		


	(a)		(b)	


	(c)		(d)	

32. 
Three charges  are located at the vertices of an equilateral triangle. At the centre of the triangle	
	(a)	The field is zero but potential is non-zero 
	(b)	The field is non-zero but potential is zero 
	(c)	Both field and potential are zero 
	(d)	Both field and potential are non-zero 

33.  (
(1)
(2)
)Below figures (1) and (2) represent lines of force. Which is correct statement		
 




	(a)	Figure (1) represents magnetic lines of force
	(b)	Figure (2) represents magnetic lines of force
	(c)	Figure (1) represents electric lines of force
	(d)	Both figure (1) and figure (2) represent magnetic lines of force

34. 
What is the potential energy of the equal positive point charges of  each held 1 m apart in air 


(a)		(b)	

(c)		(d)	Zero

35. When a proton is accelerated through 1V, then its kinetic energy will be 			
(a)	1840 eV	(b)	13.6 eV
(c)	1 eV	(d)	0.54 eV

36. Figures below show regular hexagons, with charges at the vertices. In which of the following cases the electric field at the centre is not zero		
 (
q
q
q
q
q
q
) (
q
– q
q
– q
q
  q
) (
(2)
) (
(1)
)




 (
(4)
2
q
q
2
q
q
2
q
q
)
 (
(3)
2
q
2
q
q
2
q
2
q
q
)






(a)	1	(b)	2
(c)	3	(d)	4

37. 





 (
A
q
2
B
15
 cm
) (
5
 cm
) (
q
1
)In the rectangle, shown below, the two corners have charges  and . The work done in moving a charge  from  to  is (take )		





(a)	2.8 J	(b)	3.5 J
(c)	4.5 J	(d)	5.5 J

38. A cube of a metal is given a positive charge Q. For the above system, which of the following statements is true 
 (a)	Electric potential at the surface of the cube is zero 
(b)	Electric potential within the cube is zero 
(c)	Electric field is normal to the surface of the cube 
(d)	Electric field varies within the cube

39. 


A hollow conducting sphere of radius  has a charge  on its surface. What is the electric potential within the sphere at a distance  from its centre 	 

 (a)	Zero	(b)	


(c)		(d)	

40. 
Electric field intensity at a point in between two parallel sheets with like charges of same surface charge densities  is 


 (a)		(b)	

(c)	Zero	(d)	

41. Cathode rays travelling from east to west enter into region of electric field directed towards north to south in the plane of paper. The deflection of cathode rays is towards
 (a)	East	(b)	South
(c)	West	(d)	North

42. The charge given to a hollow sphere of radius 10 cm is 3.2×10–19 coulomb. At a distance of 4 cm from its centre, the electric potential will be		


(a)		(b)	
(c)	2.88 volts	(d)	Zero

43. The work done in carrying a charge of [image: ] from a point A to a point B in an electric field is 10mJ.  The potential difference [image: ] is then 	
(a)	+ 2kV	(b)	– 2 kV 
	(c)	+ 200 V	(d)	– 200 V


44. A bullet of mass 2 gm is having a charge of [image: ]. Through what potential difference must it be accelerated, starting from rest, to acquire a speed of [image: ]	
	(a)	5 kV	(b)	50 kV
	(c)	5 V	(d)	50 V 


45. Three infinitely long charge sheets are placed as shown in figure. The electric field at point P is



 (
P


2



Z = a
Z = 
3
a
Z = 

a
Z
x
)	(a) 		


	(b) 


	(c) 	


	(d) 
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